TK120.500 Rotatable Module

6 || A=

ounting View
ontaj Gorinumu

Box Qontents
Kutu Igerigi

8x  [Jwmmmm |\V8x40 SHIT®,
720\

4x  [mm M8x20

8x © M8

(@S] (D)
8x © J8.4(M8) @
([aD) (e}

' 2x  [m M8x10 3 ox

4x (m  M6X10

_____________________________________________

M8xI0* A

Optional 1
Opsiyonel 1

Rotation Limitation
Donus Sinirlandirma

A

(4x)*

Mexio4y ¥ 7 E

Repeat steps 1to 5 also for the other side
1-5 araligindaki adimlan diger yan igin tekrarlayin

Scan for the installation manual
Kurulum kilavuzu igin tarayin

_______________________

M6x10
(4x)*

0

*2 Nm

ENCL.ACC.
GUS E510113

LISTED

*Do all the operations in the images numbered 1-2-3-4-5 also for sub profile entyr.
*1-2-3-4-5 numarali gorsellerdeki tum islemleri alt profil girisi icin de yapiniz.

https://teknokol.com

@ teknokol@teknokol.com

<@
Q

+90 224 443 23 18

Kayapa, Karanfil Cad Kayapa Sanayi Bolgesi

No:6, 16315 Nillfer/Bursa

TEKNOKOL

Support Arm and Control Panel Systems



